PART -

: GENERAL INTELLIGENCE
Dircctions : In Question Nos. 1 to 7, find the l l
v odd number / Jewters / Gigure ¢ number psir | O I—Q_, % o Q
5 from the grven altcrnatives. L2 ——
e s A ® © (o
X 1. (A) Respiration ' 3 |
(B} Digestion % $ N z @
: L |
25 (C) Discase W ®m © o
AP X (D) Blood pressure ;
: Direetions : (Question Now. $9) Which me
Ly v of the given responses can be added to ull ty
L (A) AZBY given lctters to muke meanimgtul words ?
B) CXDw .
(€} GTHR ‘ ffj g';:f’““ .
D) EVFU (3) Editing
' 4y Ploe
.3 (A) BCDF {5} Publishing
; B) AEIO A 1,2,3,4.5
: (B) 4,1,2,53
e © G*f'”‘ (€ 1,4,3,2,5
5 I} RNWX D 41,235
Weat _ 9 (1) Yae
fae & W et 2} Plant
(Cy 126 D} o4 (3)  Sarce
Lt 4 Cocton
ik T TGP () Cloth
: : ’ (A) 2,1,4,53
-, . 3
?’ (B) 2.4.5,1.3
€) 28-44 (€) 2.4,1,5.3
@) 20- 11 Dy 1,2.3.5¢

SPACE FOR ROUGH WORK
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Direetions = (Question Noo 103 Which ane
set al’ lemtess when sequennially placed at e
2ap=aa ke giver lener series shall complese
i?

M. ab_sa_bab__bLbabb_
Ay bhbhaa
B ababhh
) aabasb
(3 hbazha

B A senes ol lipums is given which can
be grouped e classes. From the

rezgonses, select the groups iate which
ik fipaces can ne classified -

1 2 3 A 3
T X By
M £

LAY 124|369 1578
(By 157|248 369
(C1 126|257 149

oy

Directions : (Question Nea, 12 10 15 A
series is given with o tarn missing. Chanse
e comect aliemative from the giver ones

369 257|142

13 62,57,68,52, 74.47.60,_ 2=
() 4153
(B} 42, %6
(C) 43,435

T 46, 88

14, Question Figares

ol -]
AlOjA

Ay B @ i

15, Question Figures :

B|ee]

Answer Figures ;

| [ = I
slolel®

fA) (8i ) (i)

Drrections : Tn Question Nos. 16 10 23, scelec

the related leders /o wond J number ¢ fipre
frum the given wliemnatives.

thot wail complete the series

1. NOMOPN.POQO,? 16, den:lion . coop - ?
AT ROQP ' 1A} dick
By Qe (B) swan
) QR (C) hen
nm RPEOQ 1D dleer
’ SPACE FOR ROUGH WORK
112MN2 CA-2010-1




17, Anurchy : [awlessness - - Anaemia : ? 2. ;28500
() Fenrkessness (A} 179 B) 126
£ 1 >
) Culeiriessresy (6. 124 ) 125
(C)  Shapelssiess
2. =121 @@ ?
(D1 Bleodlcssness 6D
(A) B9
A e b vs
18. Boian = Dyes : : Goriatric 2
e iy 225
(A) Young 0 20
(B} Needy
1C) Qg Ape 23, Queation Fgure
I PO
(D) New Bom ‘_@I g ll‘g x |
LA O] j |
1. BYDW:FUHS - AZCX - 7 Answer Figurcs
AL
M FVGT L = — L2
(A} (n (<) (D]
(C} FVHT ¢ ¢
D) EVHT 24 In = row of boys, Sach:n is 217 fram ¢
e left and Rahul iz 12" from tight On
P' inerchanging  they Maces,  Rahyl
2. BOQD :TR1G: : ANPC . hecomnes 1 7% frem neht How many
(A) DOSK by 25¢ there i 3 oy o
(Al 24
{B) TSHU (B) 38
(Cy SHFU o 7
M) DSQE | 0y 35
SPACEFOR ROUGH WORK
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e
e

appeiausenl on Sunday, found vl be e wissang
w3 odavs caclior (kap BY wha was 2 toalleiives,

davs late, 1 A had recched thore on the
fallowing Thusduy, how macy dayvs

e be o inte weald A have been ? | 28 9 3
1A 2 ddays early 3 0
e 2 days lare A5 43
- .
(O Ydnys late 702
. o o
U4 gays early (A 3
, iy 6
i S
W0, oupr af 26 pesaurs, |5 ke e | (Ci 73
whis 28 Lke collex. e 58 nure who : o 3

dishbes solh, The auaber of Aersuns
WAn e holh ted and caffes 13

A aller amivine w3 place ol | Prircetions @ 1n Question Nos, 28 o M), selecl

number  from the  given

A9
l;u.' ¥ bl
i 5
i 3
Direttions : In Questien Ne 27 lrom the
gieen alematives, ss=loct tie worr whick
cant bo larmed using 1he Slers of e
Biven word M,o32 @ a1z
SL(36) 33
. ENCGINEERING [CRI 35
‘A GINGER Ay 24
(R: ENGINE B) 20
101 NEARER W) IR
(3 RING i 12
- " SPAUE FOR KOLGII WORK '
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M. Hdeseden e S =T, l~3+8 | 34, Dicections : Four vicws of o cube ane
O, ben what will ke the vivue of given below. Study each view nnd
l¢3-0 2 answer the question given below them.
LA | Question Figeres
1els <~§r‘>>] o
) G Lo @
LR 2 A
Question t In Figore 1, which syabol is
32, 1 - sinds for additon, + foe Wivision
‘ 2 belaw the squ: ?
= tor omuligicatica smd % far % c:qqu
watichon, thee which of the Mmllowine
i\:c:;:-:\j;";' it 2 e Answer Figuies
Y e T O | P '—é _f-|
==
) U PR S 5o B S IS 1 L “ X I =rly |
N 6. 3%94d+ 227
K : . 35, How many tmangles ane these in the
3 Amen e lsar answer Tgues, which given yuestion figune
one cen e formed frony e cur out
s weven below in e guestion
hewe
= 7, ',| A 10
VA
v i (B} &
I d] ! I cr 1z
(A (B) o] 1Dy Dy 4
. SPACK FOR ROUGH WORK
TIININ2 10 CA-2010-1




Directions : ;Question No. 36} A piece of
papen is lokied and cut as shawn below i the
question figures. From i given answer
figures, indicate bow it will appear when
apenesd.

36, Quesuon Figures

=N

B (B) () n

Answer Figuses

0

v
h
o ¢

37, A wansparent sheot with a puttern is
given, How the patwern wonld apocar
wlwen the shect o 1nlded ot e cotled
lines 7 :

Quustion Figaie

Answer Fipures

=] ] =]

(A) {B) (Cs

Directions : (Quostion No. 38) Tn iy
{fullowing diagram. rectangle represents Hini
Announcers, circke  Enplish  Anroounces.
Syeare Fienck  Anpouncers  nnd tiangle
Rpresents. Genman - Announcers. Study the
dingram.,

11

38, Which arca represents those armonngers
who Cun presenr progrummes ia Hindi,
Erench ond German only ?

Ay 1
B) 2
© 3
(D 4

39, Which of the fallawing  comectly
Mustrate the relationskip among the
Codsses -

Canor, Fuml, Vepezable

A oo

y

1I2MN2

_— 2
SPACK FOR ROUGH WORK
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Directlons @ Tn Question Nos, #) to 41,
wineh arswer figere will comglete fe pailem
in the qaestinn fiage 2

Hh ﬁummn Flmne

e

Answer hbu\"

] [ [l [

(A) (R i) (m

41.

Ouestion bieurs
—7
N
L
- SN

Answer Figures

| =2

LA

]

Divections @ I Quedsea Nos. 42 10 43 fioen the
given answer figuecs, select the one in which
e guestion fieure is hidien § embedded.

1B) l(.) { }

43:

45!

Question Figure
LSRN

“u

Answer Figuies
{ ' I _ﬁE | [—l
{B) (C

(A iny

It the leters wven below are arnanged
10 fonm o sensble word, what will be
the Inst letter of the word %

LIBNAR]
(A R
By L
W N
(o 1

Saminy 13 sanding fucing south. TTe
walks 10 ke '{L':l?h( tums rizht and

wilks ancther 10 ki straight, s lef:
arcd walks 10 ke suuight ond, fimaily

4. Question Figan s leh and walks 3 kinoio peach =
I ' antel, Which directior e be Jacing
. ) now ¥
— (A) Naw
Answer Figures o (4) D
Fr—r | 7Y l|7, - (B3} South
e N W e A,
|l§'“£%| ‘ @ i) Fast
(A 1B) (| ) D) West
SPACK FOR Rmvcu WORK :
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4 ™

46. A urdl B sturt together fram one paint, Directions 1 In Question Nos. 49 and 50,

They walk 10 km towards nodtle A ] - one [ two staements are given followed by

wms lefl ared covers § km wherens B two conclusions / Assumpbions Fand 11 Yeu

i tums right and covees 3 km. A oms lelt have tﬁ,“;‘“”d“ the veo SRR 0 be Lra:
| gzin and covers 15 km whereas B even il they seem 1o be at variance from
! burs Hght and covess 15 km. How. far commonly knuwn Facts. You have to decide
: atebi S . which of rthe given conclusweas !

l ' is A from B 7 Assumptions, 15 any, follow from the given
' (AY 18 km statements. )
: 49. Statemwents : 1. Al playess  are
B 10km educated.
. 2. Al edvcated  ar
(C)] Skm cultured So
4 Conclosions: 1. All playess an
Dy & km cultured.
> I All cultured persons
) 4 are players.
R 47, If “PRICE" is coded as 11 9 18 24 22, 'u;‘; 3'::; hfﬁlﬁf:;?;_
oy then HIGH is coded ns (C) Btk Fand 1T follows.
; iAr 19 2913 19 (D) Nether L r.ml.l l'ulln.wx. .
e 50. Statement :{ FEducation of the
, (B 17182017 masecs Jeads w 3
R stendy loss of the
i (Cy E978 hold of case in Lhe
L N snciesy,
I (D) 19182019 Assumptions : L Theie s 8 dindt
! relation betweer
‘ educational progres
. - d lecli
” . If TDUCATION' is coded 48 P, eI M
DS CI1T 34N, how can II Costeism can make
‘AUTOMOBILE' be coded ? considernble
: : coatnbuticn o
Ay 15TAMAB3L2 sociely.
\ (A} Omly assumption Tis implicir.
(B} L4T3IM3B2LS (B) Only assumption L ig umplicit.
(C) 2USO1DIT4E . C e
D) 31T2M2B4LS (D) :j,f;]?; axsumption T mar 11 ish
SPACE FOR ROUGH WORK )
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PART -11
ENGLISH LANGUAGE

Directions :  In Questiom Nos, 31 o 55,
some of the sentcoces have errars and some
have none. Fird out which pert of a
semtence has an omur und blacken the
receangle | M ] covesponding Lo the
apprupriute letter (4, B, Ch. I there is no
arror,  blackee  the  receongle [ )
commesponding to (D) in the Answer Shees,

51.  The Secretary and the Manuger

(A)
£ocs 1o Londun next week. No crsoc.
(B) L] M}
82, lsupgesi you o become an engineer.
(A) (B <y
No error.
()

$3.  The caursze in an wulonomxus colleps

A)
are different frou a non-ssamoenous collepe
L
an sutenomows college.
<
No erver.
un

54, The jury wos unanimous
A) (B)
in the Verdicl. No error,
) D)

55, You will be swipended  unlcss vou

(A) (B)
do i pny your fees. No emor,
() (D)

112MN2

18

Directlons ¢ In Question Nos. 56 1o 60,
sentencce are given with blanks to be filled
in with appeopriate words, Four altermnstives
ure suggesied for each question. Choose the
comect aleemative oot of the foor and
indicate it by binckening the sppmprinte
rectangle (MM in the Answer Sheel.

56, Hesat  the table. writing u Juter
(A} =cToss
(B) uver
) hy
M) at

57. My sister e whien T was ill,
(A} calkedon
(B) called oul

(C) called off
M) called in

S8. The paticat was so by the son
music that be cooperated with the .
doctor in spite of scute pain,

{A) carmed over
(B)  carried away
(C)  carged on

(D) cardied out

CA-2010-1




PART-11
ENGLISH LANGUAGE
Directions :  In Question Nos, 51 1o 55, Directions : In Queshon Nos. 56 1 60,
some of the scotcaces have errors and some senicnces are given with blanks to be filled

have nune. Tind out which pert of &
°°"‘°"‘°l°‘ has :‘m" o b(lhache:m &"’ are guggesied lor each question. Choase the
:;;m:fm.‘m I‘cﬂcr ( .-t]. ;ocrgpc:? I::'e ‘,.’s m; comect altewative oot of the four &nd
srror, blacken the rectangle | M | indicate jt by_bkmkcnmg the wppropriate
commesponding to (D in the Answer Shees, rectmyie [ in 1 Answer Sheet.,

i with approprinte words, Four sllernatives

SI.  The Secectary and the Munusger

(A) 56, He s the table. writing u Jster
gocs 1o Lundan next week. No orror. ‘ (A} across
- B) (> (D} |
R ! (B) oaver
—a £2. lsuggest yop to become an engineer. :
- (A) (B) (€} (C) by
Ay . '
i No eror. ) a
3 )
&
A 8 53, The courses ju an wutonomaus collepe
: Al 57. My sister me when T was :Ll.
4 arc different troan 1 nin-ssonomous college (A} calkdon
£ad (B}
: because of the reedom ollowed to ! (B) calied out
'. © .
No etree. : . (M1 called in
()
! e : '
o 54, The jury was unanimaus S8. The patieat was so by the soft
: " s "?j) music thal he cooperated with the -
. l_“.,me“\'_:;"d'“' r\og)n)'or : doctar in spite of noute pan,
f ; : (A) caicd aver
: ; 2 §5.  You will be suspended  unless you M) carried away
! (A) (B) .
.3 din mex pav vear foes. No ermr, (C)  casried an
: © @) (D) cormied out
¥
l}';. 23 112MN2 18 CA-2010-1




.F.,.cv-.....-»‘ R

84, THTFE AWQ W mIE AN wmw
w0
Ay oW
B)  Mu=
(©) ==
(D) T3
85, dlaw F 9 W it Eesn

w0

(A) A
(B} vwen
€y g
Dy FaEa

W« over i 86 9 90 ¥ fot gm vl i

F1 Faettw g7= & fon e Py wemifan
¥ | e g w9 S 3 T
Qe ¥ TR weer Wi o

T
(A) =
{B) woe
)y e
D) w1

=7
(A)
(B}
{©)
D} Ty

112MN 2

S8.. [
iA) T
(B) 9
Q)
M) T
89. . T
(A} T
(B) et
(Cy =t
) Fae
9. AW
(A i
(B) W
€1 Ty
(D)

Fedar : o s 91 # 95 & i jy e

91.

ot =T F T S e o B
A Fer 7 T ey Fryw b

T v e IR § aegan s
W |

T
{A) I
(B) Mo

(Cy ==
D)  Zgwly

CA-2010-1




1m,

102.

103.

PART -~ 111
GENERAL AWARENESS

SQL in Computer Science stands for
(A)  Sorted Query Langusge

(B}  Structused Quick Languape
() Swwctured Query [anguage
D) Structwed Quick Lsunch

Which of the following is not « part of
the processor of = computer ?
(&) ALD

(B) Cu
(C)  Repisters
D) RAM

Rotateon of crog is exsential

r"-
: (A)  for increasing the quanlity of
1 minerals.
t‘ M) for incressing the Quantity of
pioiems,
§ (C) for weiting different kinds of
‘ crops,
G (D) for increasing the fetility of the
sl
f ‘ 1M, The major componpent in CNG s
| (A) ethane
(B) propane
(C)  butane
(D)  methsne
5 105. World Eovironment Day s celebeaced
on
> l (A Junes
i' ! (B)  Pebouary 28
i (C)  November 14
" D) July1s
112 MN 2

106. Eurth is protected from ultes violes

un.

108.

109,

110,

mdiation by means of

{AY  Oxywen Taver

(B) Ozone layer

(Cy Nitrogen Javer

D} Cnrben dioxide layer

The highest policy-making body in

national planning in India is

(A} Administeative Reforms
Commission

(B)  Finance Commission

1€)  Incer-State Council

(D) Nationsl Develegrment Council

Which ane of the following is an
example of fixed cost 7

(A)  Prsce of raw material
(B)  Tuel and prwer tharges
{C)  Rent for building

M) Wage for casunl lahour

The principle of populution  wus
proponnded by

(A)  Cardence

iB)  Odum

(C) Darwin

) Malthus

The public. private, copperative und
09It S0C0Ts exicd fna

(A)  Mixed economy

(B)  Socialist economy

{€C)  Communisi economy

(M)  Capitalistc ecomomy

CA-2010-1
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112,

3.

14,

115.

The Swute which stands first in
aallware expoits Irom Tndia is

(A}  Mubharashua

{B) Tumil Nadu

(7 Kamataka

M) Andhra Pradesh

Panchayuts were given constitutional

status by, the amendment to -

the Conatitution,

(A) 75"

By 74"

) ™

my 72«

The President can declare & nalional

canergency on

(A)  hix awn

(B} the written recommendation of
the Primre Minigtes

1C)  the-bnsis of the report ol the
Guvernar of & State.

M} the written recomemendution of
the Union Cabi!)&t. ;

Sarkuria Commission was et up for

aviewing the relations between

(A} Cenure and Starcs

(B) Legislature and Exccutive

(€} Executive and Judiciary

(D) The Prime Minister and the
President

To ruise n discussion in the House on g
matter of prgent public importance,
which motion ix used ?

{A) Cepsure

(B)  Adjournment

(C) Calling atteatiun

(D)  Cul motions

112MN 2

116.

117,

118,

119,

120,

Whe spoke in Hindi for the first time
in the UNO Geneml Asseinlsly ?

(A)  Indua Gundhi
{B) P.V. Nsrasimbka Rao
(€ Atal Bihas Vojpoyes
(D)  Rajiv Gandhs

Hlow many expeditions did Buhur lead
10 oocupy Delhg ? ;

(A}  Three
(B)  Fou
(C) Five
(D) Six

Which  one  of the following
manuments has the second largest
tone in the world 7

(A)  Quwar-ul-Islam Mnsjid

(B]  Gol Gumbaz

{C)  Jamal Khupn Masjid

(D) Alal Darwaza

During whoae reign Fa-Hien visited
India 7

(A} Sr Gupta

B) Sumuxlragupea

(C)  Chandragupta

(D) Chaxlragispea 1)

‘The slive Jung who got the e *Lakh
Baksh' was

(A) Nwimish

(B} Ruzn

(C)  Qurbadin Albak

(D)  Balbun

CA-2010:1




121, Who was the limst Indian soldier 10
reluse Lo use the grensed curtridge 7
(A} Nunu Saheh
{B)  Bahadur Shuh
{C)  Mangal Pandey
{1} Tantia Tope

122, Vasco da Gama discovered sea route
i o
(A} N Amenca
By S, Amenca
{C) India
M) Auwstralia

123. Toph nver rises m fOuntaing,
(A)  Enstern Ghat ;
(B) Western Ghot
()  Sepurs
(D) Vindhya

14. The major goal of the CGresn
Revoluton has been Lo
(A) Docrease the use of mademn

farm machineey.
(B} Decreass Population growth.
() Incrense ngricultoral output.
(D) [Incrense the namber of
fraditsonal farms.

125, The world's most important reocwable
ETEFZY MESCAIITE i3
(A} Natural vegetntion
(B)  Water 7
()  Sodar radliation
(D) Ticd waves

112 MN2 |

126.

128.

129

130,

The largest number of
Weaving malls are Iocatedd in

{A} Tamul Nadu
(M) Tittar Pracksn
{€C)  Maharashirs
M} Gujarat

Cotton

Hibernation pheaomenun is nobeed in
(A} Cosmonauts

(B) Aviang

() Mammalians

(D) Am'phihi'.-ns

Denpoe 15 0

(A)  viral infection

(B) fungal infection
(C) bucterial infection
(M) prowzoan inleclion

Cockroaches.  prawns  and clab.s
possess

(A) Simple eyes

(B) Compourd eyes

tC}  Panetsl eyes

(D). No cyes

Biodiesel. a kind of nop-conveotional
saurce of energy. which is obtained
from

(A) Sugarcame
(B) Jatropha

{C)  Castor plant
(D) Musturd plant




131, Photosynthesis occurs
(A) omlyin Jeaves
(8}  onlyin stemy
(Ch in alf green parts of plants
D) inthe roots

132, Bonana leaves om matunty tcar into
nbbons w aveid
{A} desiccntion
(B)  air resistance
iC)  seorching sunlight
(D1 marual shading

133. The substsnce which changes liom
sohid W vapour state al  nopmnl
slmosphersc pecasure without being
liquefied ia
(A o=
(B} Mereury
{C) Camphor
(D} Bismuth

134, Which coergy comes from Sun 7
(Al Wind cnceay
(B} Thermal energy
(C}  lidal energy
(D) Hydel energy

135, The tungsten wire in coiled foens

clectric balb has

(Al Tower melting point und lower

' reaistance

(B} tower melling point apd higher
registance

(C}  higher melting pont and Jower
resistance .

{0} higher melting point and higher
Tecistance

TII2MN2
o -

3

136, The tides in the acean are duc to
{A)  Wind over the Oceans
M) Gravuational pall of the Moon
(C) Rewution of the Barth
(D} Revalution of the Earth

137, Oil-fires sre extinguiched by
(A)  Sada-ncid five catinguisher
(B} Foam-type lire extinguisher
(Cy Carbion reirachloride fue
exlinguisher
(D) ° Simply by warter

138, The appurarus used for measuring the
heat change I8 calied
(A}  Thermometer
(B) Voltumeter
() Voltmezer
(M) Calorimeler

139, Plaster of Paris husdens by
(A)  combining with water
(B)  giving out water
(C). wving out CO,
(L) combining with CO,

18k German Silver is un allny of
(&) Silver und Copper
(B}  Silver und Aluminium
(C)  Copper, Zinc and Nicke
M) Nickel and Alumin:um

T41, What was the nume nccocded o the
Military Operation in Kacgil 1o 1999 7
{A) Operation Pawan
{B) Opeeation Paomalai
{C)  Operation Vijny
(D} Operution Braastacks

CA-2010.1
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142.

The Hlm ‘Slumdog Millionnire” i

husei an the book 'Question &
Answer” writtea by

{A)  Bhisham Swimup

{31 Vikas Swarup

{C)  Vimal Swarup

D} Vinay Swarup

143, The Inwemational ockey Tournamen:
in which only the top six nations
(udaed by thear rankings) are invited
o take past is
(Al Champions Trophy
) Azlan Shak Cup
(€1 World Cup
() Champions Challeage Trophy.

144, Panknj Advani has woa Lhe World
Professional Billiard  Chasnpionship,
2000 defeating Jo the finsl
(A1 Gext Sethi
(B} Robert Fiost
(Cy Om Agnranl
D) Mike Russe!

145. To whom did India beat to Gt the
ONGC Nehry Cup, 2009 ?

(A)  Japan

(B] Somalia
(C1 Syria

(M) Afshonistan

146, 'The recipient of the 42™ Jnan Peeth
Awand thic year is
(A} Manchar Shashio
(N)  Satyn Vear Shashirny
(Cy K. Kaushal Panclas
(DY Mahavir Shashi

112 MN 2

47,

148,

149,

150,

Who bhas won the 1080 metres sprints ac
the British Grand Prix recently ?

(A)  Tyson Gray
(B)  Usau Bolt
{C1  Kim Collins
{D) Mano Burns

The Weorld Badnonuom  Federation
declured the Tndinn Shurtler, Saina
Nehwazl, ns

(A} ‘The most promising pliver of
2008

{B) ‘Lhe Jeading player nf 2008

{C) The mweat papular player of
2008

D} The concrging player oof 2008

The first sister from India o be
conferrsd the Saintheod by Pupe
Benedics XV s

(A)  Sister Desouza
(B) Sister Nirmala
() Sister Alpheusa
(D) Sister Madorana

The three cooantties in secal order
which won the highest oumber of
Gold Mednls io the Beijing Olympics
ure

(A)  Ching, US A, Russia
(B} China, US.A, Germony
(C)  Chiny, Germany, Australia

() China, Aastralis, Cunada
CA-2010-1




PART -1V
NUMERICAL APTITUDE

151, The boys of a ¢lass ane made to <tand in
0 queue. Amit is standing ot 15% place
Iroen beeh ends: How many hoys are
there e the queue

Ay 1
By 130
«r 29
(D) 28

} 152, If the sww ol a ratioma] number and its
reciprocal is 13/, then the number is

1A

g —

w
S
Wt e e

oA

153. In o group of students; 10 students play
Crcket, 20 play Teanis and in all 25
play cither Cricker or Teumss. How
muny students play bath Cricket ind
Tennis ?

Ay 10
w12
{Cy 15
D)y 18

154, Simplified value of Mtzéus.ag "

{A) —40.64
B) -10.16
{C) 40.64
(D) 50.80

155. Simplified value of
(0.361F +{0.639)° }
(03617 - 0361 = 0,639 + (0.639)
(a) 1
(B) 361
{©) €19
{1000

156. If the sum of ane half, ope-third and
onc-fourth of n numbes cxceeds the
number by 12, then the number is

(A) 90
(B) 144
<y 154
(D) 174

¢ ¢ z
187, 325432 % isequai to
(A) 32

o |1

ic M2MN2

SPACE FOR ROUGH WORK
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' Q- m
158, T ;.; ond 8a + $b = 22, then a s | 162, V7N 3\ 3E3 is equat o
equal 1o a3
{(A) 2 {a) 3%
B 4 2
i) s ® 3%
31l
D) & oy an
5
159. (698 + ntg:;rlﬁgoss-m% i oy 22 :
(a) 2 !
B} 4 | 163 35%x35x35-25x 25 %25~ 10 % 0%
) 1038 equal o
(C} 9854
D) Y& (A) 26250
0 . (B) 17,500
‘ie' 160, The cube root of (C) 8350 i
* 0027 +0.064+ 3% 012 % 0.7 i3 D) .0
; A 0320
(B) nAan
© 012 - 164, /;}ﬁ is equul to
Dy 070 :
(A g
161. i}——:’% \L(; .f- is equal to ﬂ'?) % 1¢
; (A) 3464 ,
: (B) 2.828 © 7
1 (S i
' o 10 L) 13
Fon ~ SPACE FOR ROUGH WORK N

i
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165. v?:;\}",—z < \F.'T:Zh' 12 is equal to 169, The sum of al cvea aumbers upla 100
HA
) 4 (A) 1000
B 443 (B) 2000
€ 6 © 2500
oy 62 D) 25%
166. The smnllest pedfoct square number, 1 ]
which is divisinle by each of 2,3, 4,5 | 170 707+ U=+ Sooms TEenis
and 6, 15 equal to :
(A} 600 .
(B) B4D A 3
€ 900 =
(D} 1600 M 13
3
R e (D > by N A | © 3
167, l\l -3) |3 [1 =3, [Voz) :
..»1 _LXI-. : (I 'l";
T is egusl tn
(A) ﬁ 171. The average af all adé nizmbers Jass
: than 10015
(B). TR (A) 49
o @) 50
) == «© 5t
pea W) sz
(m su
172, A hatsmam has a certain avessge of uns
for 11 nnings played by him. In his
l“- Thc sum Of the ﬁlal 51 wons 2‘ the 12“ in‘nings he scored 9D runs, (hmb\c
arithmelic progression, whose 26™ term decrgased his average of suns by 5. Hix
is 300, is average ol nums for 12 innings is
(A) 15,100 (a) 217
(B) 1531 (B 130
(Cy 15300 (C) 145
) 15,700 (D) 127
' - SPACE FOR ROUGH WORK.
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o Taad

173, The average of monthly salones of A, B

174,

amd € is Rs. 40,00¢ and that of B, C
gnd ¥ is Re. 50,000 If D's monthly
salury is Rx. 60,000, then A's rmanthly
salory is

(A} Ra 30,000

(B) Rs 40000

() Rs. S000D

(D) Rz 60.000

The sclling price of a commodity is
reduced by 25%. Ax u result s duily
sale i3 tncreased by 30%, Due to this
effect the revenue collected, compared
o the previous daily sale, will be

(A}
®)
(€)
(D)

% more
5% less
2,5% more

2.5% less

. Inoim examinuion, a student gos 3D

marks oul of 180 it the first paper of a
subject, How much must he get in the
sooond paper out of 150 so that he gets
S0% marks in the subject 7 3

176,

177

178,

F21 us suppase thal when waler [teezes
in the form of ice, a volunx s
increased by 10, Whal  percent
decrease will there be when ice melts in
the form of water ?

(A) 10

(B} 9

© Iy
I
m) 9277

HA:B=2:3andB :C=4:5, then
S5A:3Cis

(A} 8:9
@B 5:8
) 7:9
D) 6:7

The rubio of two numbers is 5 : & und
their difference is 62, The amaller of
the Lwo numbers is

(&) 184
(B) 140
(Cy 115
D) 108

I79. The incomes of A :md B are in the ritia

3 2 and thede expenditures in the ratio
5 0 A I ek saves Rs. 1060, A's

Al 0% income is
B 4 (A]  Rs. 300
' (B) Rs. 4000
(C) 6% (C) Rs. 60,000
(D) 80% | (D) Rs. 90,000
SPACE FOR ROUGH WORK
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18L

182

(D)

A persom teok two squal loans for 2
yuars and 3 years respectively esch mt
8% cimple interest, If at the end of the
terms, e difference of interests was
Rs. 560, then the amount of ¢ach loan
was
(A}
1)

)

Rs.
Rs.
Rs.
Ks.

7000

7,500
7,8}

A sum ol maoney st compaend incerest,
compounded balf-yeuly bocomes g'é—g

times of itseif in one year, The rate of
inlescsl per annurn ix

A 106
B) &%
€] 6%
o 5%

A sum ol money at compouncd inteTest
amounts 1o Rs. 10,648 jo 3 yeass and 10
Rs. 9,6K0 in 2 yeurs, The rate of interest
per ANALM 5

7,200 ‘ L

183.

184,

185,

Two sucossaive discounts of 10% and
5% ure equUivalent to a single discount
of

(A) 15%

® 3%
©

(D)

The marked price of an article is 20%
above its ¢oet price. I the tracder allows
20% discount on its macked pace. he
will get

{A)
{B)
<)

)

A% profit
4% loss
3% peoflt

5% loss

A man can complele ane-third ol a
work in |8 dnys. How many days will
he need o complete .5 part of the
wurk 7

(A) 20% (A 36
(B) 16% B
€y 15% © 24
(D) s (D) 21

SPACE FOR ROUGH WORK
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186, A and B wgether con do a picoe of 1ML In zoing from statiom A to seation B, =
g work in 12 days, B and C 1ogether in 15 distance of 100 ki & train moves with
days wnid C and A topether in 20 days. specd 40 kevhr ond I retuming back
In how many days cun A alone do the from B 10 A, it munc with spoad
sane work 7 60 kavhir. The uvernge spoed (i kmvhrd
(A) 22 of the trun for the citire pamey is
By 25 (A) 45
cy % (B} 48
) 40 )y s
(D) 55
I87. A Qs tovice as goad @ workman as B and ’
together they complete a piece of work 191, A man walking a1 3 knvhr crosses a
in 14 days. In bow many days can A spuare field diagenally in 2 minutes,
alone comnplele the work 7 The arca (in n?) of the field is
Al 2] (A) 2500
(Ry 28 n) 3000
iy 30 () 5000
D1 35 (D) aDid
188, If 1 man ur 2 wamen or 3 boys can do a 192, A uns lwi::e 03 fast & B «nd B nms
peece of work in 35 days, in how many thrice &5 last as C. In how many
days, will 1 man, | woman and 1 hoy rinutes, wili the journcy, covered by C
wgedher do the san work 2 ' in 42 minutcs, be cavered by 4 7
(A) 40 ~ (A 36
B) 34 ¢y 28
M 30 Dy 7
189, A car campletes a certan joumey in § 2% mi‘::;c ;uﬁm '__::zml“u:ﬁn:.c;:hg
hours, It Govers hall the distance at o 2 2
40 Riz'hr and the reer ar 60 kavhr. The LS .Tl
length of the jeurmey is 4 s
LAY 4X) kmj " (Al 28 L'l;_b
(B) 41 km (B} l4y6em
{C) 284 kn i€y 76em
I 250 Kkm (D) 14cm
SPACE FOR RODGH WORK
11Z2MN 2 CA2010-T




ml

195,

196,

Each of the radius of & sphere and that
of the base of s righl cireular eyvlinder ia
3 cm. If their volumes are equal, the
heaght (in cin) of the cylinder is

{Ay 4 .

By @

© 12

MO 2

The ratio of the area of an equiluternl
triangle and that of u square is A3 : 2. If
the length of 8 diagonal of the sguure is
60 cm, then the perimeter of the
nungle is

(A) 150¢m

(B) 1E0cm

() 210cm

{I) 240 c¢m

The differcnce between the
circwnlerence snd the diameter of a
cirele is 13 cm. The radius {in cm) of

y bl
the circle 1s | Take @ =§J
v

197.

198.

199,

200.

6% more 15 gained by selling a radio for
Rs. 475, thon by sclling it for Rs, 451,
The cost peice af the radio is

(A} Rs. 434
{B1 Rs. 4D
(C1 Rs, 446.50
(D) Rs. 427.50

Ry selling an arucle for Rs. 255, a man
incws i loss of 15%, For whal price
should he scll it so that he makes a
profit of 205, ?
(A} Rs 275

(C) Rs. 375

(B) Rs, 300
(D) Rs. 360

A production-house selfs their items at
20% peofit. If the production cost is
incrznsed by 10%, but the selling price
remaing unaltered, the profic is

@ og%  m) e
«© 11% ) 115
A shop-keeper had to scll an articls at

205 logs. He could guin 3%, if he had
sold the article for Rs, 200 more. The
tost price of the artivle was

N 7
N (A) Re 700
(B) 4.5 (B} Rs. 800
Cy 35 (C} Rs. 900
Dy 225 (D) Rs 1,000
SPACE FOR ROUGII WORK
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